20114E10 81 H~20124E3 240 S BER (X FBEER) JTA/RAC
XS RKAEREER INEEEES BIKEANEES| EEZEI5]

BEE | U8 [10/20mRs 85150] 0w n/mmRs BEIED| |05 R, | BIEO| JVTLS WEER)|vic2uiks BEIEQ)| 10/1-205R5 MR 002k BE1EO BEEe)| FEE #mix0| -8 nsize)
1| HRE=4E () JTA 40,800| 42,900| 20,400  50% 20,400 50% 20,400 50% 21,450 50% 21,450 50% 26,100 36%| 26,100 36% 39%| 36,800 10%| 38,500 10%
2 | KEr=i4$E (A& JTA 34,200 36,400 17,100 50% 17,100 50%| 17,100 50%| 18,200/ 50%| 18,200 50% 21,900 36% 21,900 36% 40% 31,200 9% 32,600 10%
3 | 1B =i (FBEH) JTA 27,500 29,600 13,750  50% 13,750/ 50%| 13,750 50%| 14,800/ 50%| 14,800 50%| 17,600 36%| 17,600/ 36% 41%| 257100 9%| 26,200 11%
4 | HRER=HIE JTA 59,300 61,500] 29,650 50% 29,650 50% 29,650 50%| 30,750 50%| 30,750 50%| 37,950 36% 37,950 36% 38% 51,000 14%| 53400 13%
5 | HR=81H JTA 55,500 57,700 27,750/ 50% 27,750 50%| 27,750 50%| 28,850 50% 28,850 50%| 35500 36% 35500 36% 38% 47,700 14%| 50,000 13%
6 | KEk=H1i8 JTA 48,400 50600 24200 50% 24200 50% 24,200 50%| 25300 50% 25300 50% 31,000 36% 31,000 36% 39% 42000 13% 43900 13%
7 | K= JTA — 48,900 — — — o — — | 24450 50% 24450 50%f —— — 29950 —— | 39%| -— | — | 42100 14%
8 | ALE=FRIE JTA 53,000] 55200] 26,500 50% 26,500 50% 26,500 50%| 27,600 50% 27,600 50% 33900 36% 33,900 36% 39% 46,100 13%| 48,000 13%
9 | /M=PiE (FARER) JTA 40,800| 42,900( 20,400, 50% 20,400/ 50%| 20400 50% 21,450 50%| 21,450 50% 26,100 36% 26,100 36% 39% 36,700 10%| 38,400/ 10%
10 | 2EE=4{ GB5H) JTA 38,600 40800 19,300 50% 19,300 50%| 19,300 50%| 20,400/ 50%| 20400 50% 24,700 36%| 24,700 36% 39%| 34,800 10%| 36,400 11%
11 | ML =$8 (ARER) JTA 34,200| 36,400 17,100/ 50% 17,100 50% 17,100/ 50%| 18,200 50%| 18,200 50%| 21,900 36%| 21,900 36% 40%| 30,600 11%| 31,900 12%
12 | HEEGREH) =Hi8 JTA 23,000] 24,100[ 11,500 50% 11,500 50%| 11,500 50%| 12,050/ 50%| 12,050 50% 14,700 36%| 14,700 36% 39%| 19,700 14%| 20,500 15%
13| HEGRR) =24 JTA/RAC| 17,500| 18,600 7,800  55% 7,800  55% 6,100, 65%| 6,100 67% 8,100 56% 11,200 36% 11,200) 36% 40%| 15000 14%( 15,700 16%
14| RIE=EH JTA/RAC| 11,900 12,400 5,950  50% 5,950 50% 5950 50%| 6,200 50% 6,200 50% 7,600 36% 7,600 36% 39%| 10,400 13%| 10,800 13%
15 | 4B (B =AXKE  |JTA/RAC| 11,800{ 12,300 5,700  52% 5,700  52% 5700 52%| 5700 54%| 5700 54% 7,550 36% 7,550) 36% 39%| 10,200/ 14%| 10,700 13%
16 | AE=5RE JTA/RAC| 11,800 12,300 5,700 52% 4,150  65% 4150 65%| 4,300 65% 4300 65% 7,550 36% 5300 55% 57%| 7,150/ 39%| 7,500 39%
17 | B (BER) =5k RAC 14,200 15,300 7,100 50% 7,100 50% 7100 50%| 7,650 50%| 7,650 50% 9,100 36% 9,100/ 36% 41%| 12900 9% 13,900 9%
18 | HBGRE) =EXAE | RAC 23,300 24400 11,650 50% 11,650 50%| 11,650 50%| 12,200 50%| 12,200 50% 14,900 36% 14,900 36% 39%| 21,200 9% 22200 9%
19 | HBGRE) =FAR RAC 24,900| 24,900 12450 50% 8,700/ 65% 8,700 65%| 8,700 65% 8,700 65% 15,950  36% 11,150/ 55% 55%| 15,800 37%| 15,800 37%
20 | B (BRER) =JdtKE RAC 24,900 24900 12450 50% 8,700 65% 8,700/ 65% 8,700 65% 8700 65% 15950 36%| 11,150/ 55% 55%| 15800 37% 15800 37%
21 | mAE=J KK RAC 8,300| 8,300 4,150,  50% 4,150 50% 4150 50%| 4,150/ 50% 4,150 50% 5,300 36% 5300 36% 36% 7,600 8% 7600 8%
22 | BEH=%BEM RAC 8,500] 8,500 4,250/  50% 3,000 65% 3,000 65% 3,000 65% 3,000 65% 5450  36% 3,800 55% 55%| 5450 36% 5450 36%
23 | hiE(ANER) =5 E RAC 31,700| 33,400 15850 50% 15,850 50% 15,850 50%| 16,700 50%| 16,700 50%| 20,300 36%| 20,300 36% 39%| 27,100/ 15%| 28,400 15%
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JTA/RAC

F 1% o] TR F 1% R T LR ARAAE
XRe 12718, 12/16-21 12/1-8. 12/16-21
10/1-29 %‘Jz}\i 1‘0‘//%(:)’ %‘Jz}\i 12//150: %‘Jz}\i 2/6-9 %‘Jz}\i‘?a/?;éi %‘J%\i ;//59:15‘ %‘@7\& 12/22-28 %‘J%\i 12‘//249’ %‘@7\& 3/16-24 %‘@7\& 10/1-29 %‘Jz}\i 1‘0‘//%(:)’ %‘Jz}\i 12//150: %‘Jz}\i 2/6-9 %‘Jz}\i‘?a/?;éi %‘J%\i ;//59:15‘ %‘J?)i 12/22-28 %‘J%\i 12‘//249’ %‘@7\& 3/16-24 %‘@7\& 10/1-29 %‘Jz}\i 1223’ E(D -@' 10/1-29 E‘I/il$ m‘//:::;/‘a E‘I/il$ E—ot %‘lg$
2/10-3/1 2/10-3/1

1| mm=—s@aRE)| JTA | 36,300 11%| 36300 11%| 36,300 11%| 36,300 11%| 38500 10%| 42400 1%| 42,400 1%| 42400 1%| 42,400 1%| 35500 13%| 35500 13%| 35,500 13%| 35,500 13%| 38,500 10%| 42,400 1%| 42,400 1%| 42400 1%| 42,400 1%| 26,100 36%| 26,100 36% 39%| 21,150 48%| 21,150 48%| 25,600 40%
2| KBE=st$8GBE| JTA | 30100 12%| 30,100 12%] 30,100 12%| 30,100 12%| 32,600 10%| 35900 1%| 35900 1% 35900 1%| 35900 1%| 20,000  15%| 20,000 15%| 20,000 15%) 20,000 15%| 32,600 10%| 35900 1%| 35900 1%| 35000 1%| 35900 1% 21,900  36%| 21,000 36% 40%| 18,150 47%| 18,150 47%| 21,700 40%
3| =38 ERE | JTA | 23800 13%| 23,800 13%| 23,800 13%| 23,800  13%| 26200 11%| 29,100 2%| 20,100 2% 20,100 2%| 29,100 2%| 22500 18%| 22,500 18%| 22500 18%| 22500 18%| 26,200 11%| 29,100 2%| 29,100 2%| 29,100 2%| 20,100 2%| 17,600  36%| 17,600 36% 41%| 14950 46%| 14,950 46%| 17,700 40%
4| Em=F1E JTA | 50,500 15%| 50,500 15%| 50,500 15%| 50,500) 15%| 53,400 13%| 61,000 1%| 61,000 1% 61,000 1%| 61,000 1%| 42,850 28%| 42,850 28%| 42.850 28%| 42,850  28%| 53,400 13%| 61,000 1%| 61,000 1%| 61,000 1%| 61,000 1%| 37,950 36%| 37,050 36% 38%| 20,700 50%| 29,700 50%| 36,650 404
5| Em=my JTA | 47,200 15%| 47,200 15%| 47,000 15%| 47,200) 15%| 50,000 13%| 57,200 1%| 57.200 1% 57,200 1%| 57,000 1%| 40400  27%| 40,400 27%| 40400 27%| 40400 27%| 50,000 13%| 57,000 1%|57,200 1%| 57,200 1%| 57.200 1%| 35500 36%| 35,500 36% 38%| 27,900 50%| 27,900 50%| 34400 40%
6| AlR=H1E JTA | 41,500 14%| 41500 14%| 41,500 14%| 41500) 14%| 43,000 13%| 50,100 1%| 50,100 1% 50,100 1%| 50,100 1%| 35,500 27%| 35500 27%| 35,500 27%| 35,500 27%| 43,000 13%| 50,100 1%| 50,100 1%| 50,100 1%| 50,100, 1% 31,000 36%| 31,000 36% 39%| 24650 49%| 24,650 49%| 30,150 40%
7| xR=m# JtA | — —| — | —| — | —| — | —|42100 14%| 48400 1% — —| — |—|aga00| 1% — |—| — —| — —| — |—|a2100 14| 48400 1% — | —| — —|48400 1% — | —|29,950 —| 39% —- |——| —— | -—| 20200 40%
8| REE=T1E | JTA |45600 14% 45600 14%| 45600 14%| 45600 14%| 48,000 13% 54700 1%| 54700 1% 54700 1%| 54700 1%| 38800 27%| 38,800 27%| 38,800 27%| 38,800 27%| 48,000 13%| 54700 1%|54700 1%| 54700 1%| 54700 1% 33,900  36%| 33,000 36% 39%| 27,050 49%| 27,050 49%| 33,100 40%
9 | mis=s#EGBE) | JTA [36200 11%) 36200 11%] 36,200 11%| 36200 11%| 38.400 10%| 42400 1%| 42400 1% 42,400 1%| 42,400 1%| 33400 18%| 33.400 18%| 33400 18%) 33,400  18%| 38,400 10%| 42,400 1%| 42400 1%| 42400 1%| 42400 1% 26,100 36%| 26,100 36% 39%| 21,150  48%| 21,150 48%| 25600 40%
10 JTA | 32650 15%| 32650 15%| 32,650 15%| 32,650 15%| 36,400 11%| 40,300 1%| 40300 1% 40300 1%| 40,300 1%| 31,000 20%| 31,000 20%| 31,000 20%| 31,000 20%| 36,400 11%| 40,300 1% 40300 1%| 40,300 1%| 40300 1% 24,700 36%| 24700 36% 39%| 20,150 48%| 20,150 48%| 24300 40%
11 JTA | 30,100 12%| 30,100 12%| 30,100 12%| 30,100) 12%| 31,000 12%| 35900 1%| 35900 1% 35900 1%| 35,900 1%| 27,750, 19%| 27,750 19%| 27.750 19%| 27.750 19%| 31,900 12% 35900 1%| 35900 1%| 35900 1%| 35,900 1% 21900 36%| 21,900 36% 40%| 18150 47%| 18,150 47%| 21,700 40%
12| s#GBED=F1E| JTA | 19000 17%| 19,000 17%| 19,000 17%| 19,000 17%| 20,500 15%| 20,500 15%| 23,600 2%| 23,600 2%| 23,600 2%| 17,200 25%| 17,200 25%| 17,200) 25%| 17,200 25%| 20,500 15%| 20,500 15%| 23,600 2%| 23,600 2%| 23600 2%| 14,700 36%| 14,700 36% 39%| 12,100 47%| 12,100 47%| 14350 404
13| 5048 (IED) == |oTamac| 7.900) 55%| 7,900 55%| 6200 65%| 9,200 51%| 6,200 67% 6,200 67% 6200 67%| 9.200 51%| 8200 56%| 7,800 55%| 7,800 55%| 6,100 65%| 9,100 51%| 6,00 67% 6,00 67%| 6,100 67%| 9,100 51%| 8100  56%| 11,200 36%| 11,200 36% 40%| 9,350 47%| 9,350 47%| 11,100  40%
14| EE=E#  |samac| 9900 17%| 9,900 174 9900 17%| 9,900 17%| 10,800 13%| 10,800 13%| 11900 4%| 11,000 4%| 11900 4%| 8650 27%| 8,650 27%| 8650 27%| 8,650 27%| 10800  13%| 10800 13%| 11,900 4%| 11,000 4%| 11900 4%| 7,600 36% 7.600| 36% 39%| 6,400 46%| 6400 46%| 7400  40%
15| 48 (38 =A% |oTarac] 9700) 18%| 9,700 18%| 9700 18%| 9,700 18%| 10,700 13%| 10,700 13%| 11,800 4%| 11,800 4%| 11800 4%| 8600 27%| 8,600 27%| 8600 27%| 8600 27%| 10700 13%| 10700  13%| 11,800 4%| 11,800 4%| 11800 4%| 7,550 36%| 7550  36% 39%| 6,350 46%| 6,350 46% 7,350 40%
16| BE=5FE |samac| 9700 18%| 6800 424 6800 42%| 6,800 42%| 7,500 39%| 7,500 39%| 8250 33%| 8250 33| 8250 33%| 8600 27%| 6,000 49%| 6000 49%| 6,000 49% 7500 39%| 7500 39%| 8250 33u| 8,250 33%| 8250 33%| 7,550 36%| 5300 55% 57%| 6,350 46%| 4,450 62%| 5150 58%
17| S#BGRE) =5| RAC | 12400 13%| 12400 13%| 12400 13%| 12,400 13%| 13,000 9% 13,900 9%| 14800 3%| 14,800 3%| 14800 3% 12,300 13%| 12,300 13%| 12,300 13%| 12,300 13%| 13900 9%| 13900 9% 14,800 3%| 14800 3% 14800 3%| 9,100 36%| 9,100 36% 41%| 8450 40%| 8450 40%| 9,100 41%
18| seamm —wsxm | RAC | 20700 11%| 20,700 11%| 20700 11%| 20,700 11%| 22,200] 9% 22,200 9%| 23900 2%| 23,000 2%| 23,900 2%| 19950  14%| 19,050 14%| 19,950 14%| 19,050 14%| 22200 9%| 22200 9%| 23900 2%| 23,000 2%| 23900 2%| 14,900 36%| 14,900 36% 39%| 13,900 40%| 13,000 40%| 14550 404
19| 4 (IE =mixm| RAC | 22,100 11%| 15450 38%| 15450 38%) 15450 38%| 15800 37%| 15800 37%| 15800 37%| 15800 37%| 15,800 37%| 21,150 15%| 14,800 41%| 14800 41%| 14,800 41%| 15800 37%| 15800 37%| 15800 37%| 15800 37%| 15800 37%| 15950 36%| 11,150 55% 55%| 14,800 41%| 10,350 58%) 10,350 58%
20| sesuE =HAxm| RAC | 22,100 11%| 15450 38%| 15450 38%| 15450 38%) 15,800 37%| 15,800 37%| 15,800 37%| 15,800 37%| 15,800 37%| 21,150 15%| 14,800 41%| 14,800 41%| 14800  41%| 15800 37%| 15800 37%| 15800 37% 15,800 37%| 15,800 37%| 15,950 36%| 11,150 55% 55%| 14,800 41%| 10,350  58%| 10,350 58%)
21| gAS=dtA% | RAC | 7,100 14%| 7,100  14%| 7.100 14%| 7100 14%| 7600 8% 7600 8% 7.600 8% 7.600 8%| 7.600 8% 7050 15%| 7,050 15%| 7,050 15%| 7050 15%| 7,600 8% 7,600 8% 7600 8%| 7600 8% 7.600 8% 5300 36%| 5300 36% 36% 4950 40%| 4,950 40%| 4950 40%
22| E#& =28 | RAC | 7,300 14%| 5100 40%| 5100 40%| 5100 40%| 5450 36%| 5450 36%| 5450 36%| 5450 36%| 5450 36%| 7.250 15%| 5100 40%| 5100 40%| 5100 40%| 5450 36%| 5450 36%| 5450 36%| 5450 36%| 5450 36%| 5450 36%| 3,800 55% 55%| 5050 41%| 3550 58%| 3,550 58%)
23| e =5mE| RAC | 26,600 16%| 26,600 16%| 26,600 16%| 26,600 16% 28400 15%| 28400 15%| 32,000 1% 32900 1%| 32,000 1%| 21,750  31% 21,750 31%| 21,750 31%| 21,750 31%| 28,400 15%| 28,400 15%| 32900 1% 32,000 1%| 32,900 1% 20300 36%| 20,300 36% 39%| 16,350 48%| 16,350 48%| 19,900 40%
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JAL/JTA/JAC/RAC

B NP 12/1-8, 3% -1/9. | g
) — — 10/1 111/530;)52 umj;; 1/10_13;,2%\ :.ua|z<nD i | BI3IEO(3/16-2415 55 BFIEQ
e A AN 2000 31; 8’288 3204, 16,100 | 33% 16,100 | 33%
hiE—-5HE JTA/RAC HiE—-5BE 5’700 52%0, 5’700 g;n//o 3533 gj://o AR
L — A — 5 A , , b ] b 5700  54%
i JTﬁ Eigiiﬂ’qlff%ﬁ(gi%) ?g,;go 31% 40,700 | 31%| 41,200 33%| 41,200 330/:
g — R —; 500 37% 14500 37% 14,700 | 39%| 1
RN el , , b 4700 @ 39%
(R ] BB —RE 26,200 36% 26,200  36%| 26,500 38%| 26,500  38%
it 40,700 = 36%| 40,700 i
HiE— Kk JTA AiE— KR 33'500 310/n 33'500 36? e B
HiE— KR JTA fiE— A ) 14’500 370/o 14'500 g;f L
: b , 14,700 | 39%| 14,700  39%
Q JAL/JTA| shig - n n ' n
(R ] ; (%Bai) KB ;g,ggg 2;1://0 ;2,000 44% 19,250 | 47%| 19,250 47%
— 2 Z !
FE-AEE JTA FE—ZaRE 38,650 27" 38'2(5)3 P 30450 2083450294
BiE-2HE JTA AiE— A ) 14'500 370/0 14'500 gf ?9'450 B TaT00 oo
, 0 , %
) JTA | HEBEHE) —/EHE| 24150 37% 24,150 370n 70 | 24730 a0m
{0 (R ) " 24150 374 24150 % 24750 | 39%| 24,750 | 39%
s __& _ , b , 37% 39,450 | 39%| 39450  39%
fiE—1EMH jx ﬁ;; (ﬁﬁ%’f‘?(ﬁgiﬂ) 14500 | 37% 14500 37%| 14,700 | 39%| 14,700 39?2
(S BT ] ] a = iE] ;g,;gg 431;; ;g,;gg 41%| 17,250  42% 17,250 | 42%
: X 0,
— E;EP?&%(%B%) JTA/RAC — P48 (GRER) 7,800 550/: 6’100 ggn//o 3:5’?(5)2 g;://o T e
T AR LB , , b , b 8,100 | 56%
e oA Eﬁ—if}; :ifi,_wo 31% 38,100 | 31%| 38,700 33% 38,700  33%
2R _ ] _ - — — | — | — 33500 31%
B — KR JTA/RAC| B& — il (%) 7,800 55% 6,100 65% 6,100  67% 8 n
) JAL/JTA| 8 GIRER) — KER 21,050 38% 21,05 ’ ’ ; T
Com T ) qu 21,050 44; 214 53 38%| 22,300 | 39% 22,300 39%
s N . L
é;;g—;qﬂfﬁ%(%%) JTA/RAC| AXKE —H#8 (FRE) 5,700 520/: 5’700 gg; 23,;188 gi://o TR
i L / # , , b , b 5700  54%
L ] %2352) 5:8 Egﬂfl% %ﬁgi&g) 21550 | 32%| 21550 | 32%| 22,100  34%| 22,100 340/:
B 15750  32%| 1 )
BRE—fZE JAC BERE—#ZE 18,500 310/n 12';?)8 32? 18500 3en 15500 o6
ERE—EFE JAC BERE—EFE 9’200 270/0 9’200 31? o o300 a7
BRE-EBAE JAC BERE—EABE 10'200 270/n 10'200 27? T o AR
ERE—ERE JAC BERE—ERE 18’250 250/o 18’250 2;? I T AR
= cido] - , b ] b 18,250  25%| 18,250  25%
mﬁﬁ%ﬂ#gﬁ il j:g m%%%ﬁﬁ%ﬁr& 22350 | 24%| 22,350  24%| 22,350  24%| 22,350 240/:
B 23,500 P )
SRR SR =G SERB- S 2 240/n 23500 | 24%| 23500 24% 23500 | 24%
: = 800 | 28% 6,800 | 28% 6,800  28% 9
BEXE—HEZE JAC BERE—EZE 9750  27% 9,750 | 27% ’ % S50 o
BEKRE—HKRE| JAC |EEXE—HKBE 12:450 26% 12'450 260/n 12'750 27? o
BEXKE—HKRE| JAC BEXKE—EH 8,000 | 59% 8’000 590/0 8’3(5)((; Egﬂf AR
Y =R , , b ) b 8,000 59%
(58] AC i ,T;KE“B 4450  56% 4450  56% 4,450  56% 4,450 56"/:
5 12,450  58Y% '
E PNt JAC BEXE—5H 14,600 26‘%|: }i,ggg 22‘; }2’450 58? o a0
BEXKE—EH JAC |EBEXE-HKEI 9,200 | 45% 9.200 450/: g'ggg igf 13'388 ig%
JAC ' ' n ' .
[k B 48] ﬁFyXEnE B 12'288 22://0 5400 = 46% 5400 46% 5400 | 46%
& 0,
IO s L 1400 k 14600 46%| 14,600 | 46%| 14,600 | 46%
e JAC tﬂ@_ﬂgu&m , 29f, 7,150 | 29%| 7,150 @ 29% 7,150 | 29%
E-1E 9,550 | 22% 9550 22%| 9550 | 22% 9,550 | 22%
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JTA/RAC

_ EEWMAA . 2012/1/17 ~

3/16-19.3/21-24 3/|20
3178 347C 5
XA L]
¥ g [l ] FH gemt—7H ¥ g
& WA e 0 [ L SR D W [T i
B =5 7.901 7.200 7 7.200
7,90 7,200 7 7,200
7,90 7,200 7 7,200
7,90 7,200 7 7,200
7,90 7,200 7 7,200
7,90 7,200 7 7,200
7,90 7,200 7 7,200
[NU569 | 7,90 7,200 7 7,200
U571 | 7,90 7,200 7 7,200
EEH¥ | NU552| BIE | 7.901 7,200 7 B [7.200
[NUS56 | #iH | 7.90 7,200 7 B 7200
[NUS58 | @fH | 7,900 58% B 7200 78 B 7200
U560 | BiH | 7900 58% B 7200 78 B 7200
u HIE | 7,900 58% B 7200 78 B 7200
u AIE 7,900 58% B 7200 78 B 7200
u HIE 7,900 58% B 7200 78 B 7200
U570 | #iH | 7900] 58% B 7200 78 B 7200
RAC804| AfH | 7,900 58% B 7200 78 B 7200
BEh =R\ EH¥% [RAC B E 00 00 — =] 00
RAC! 00 700 700
RAC! 00 ,700 700
EER |RAC 00 700 700
RAC! 00 700 700
RAC! = 00 700 700
P (BVER) = Ak By | 798 (AP ER) % RAC! = 00 ,300 ,300
RAC! B 00 300 |24 7 ,300
RAC! B 00 300 |24 7 ,300
RAC! = 00 300 |24 7 ,300
ARBFE [RAC = 00 300 |24 7 B 9300
RAC! = 00 300 |24 7 B 9300
RAC! = 00 300 |24 7 B 9300
RAC! B 00 300 |24 7 B 9300
RE=51E hiEF [RAC = ,700 @ A 00 | 4 kA EEXE B 500
| [ 5ER [RAC = ,700 K EEH 500 | 47% |kesam K% B = 500
8 (BVER) = 5 30 E | 7948 (B %) [RACB89 PEXET) 26,300 21% |kensm PEXET) B 26,300
1] 21% |xenEn 26,300 _21% _ xemEN 20% |xenan B_126300




3HA16H~24 JTA/RAC

BEEMAE . 2012/1/17  ~

3/16. 18-19, 3/21-24 3/17 3/20

=P B4 =5 E 347 A =5 5478 447A  4349B | 5347A 447B

P "% ERE | yam #E B EEH|EEE EEH

SR8 (FRER) F | _NU904 45% 9,900 | 54% | H:20,900 ,500 | 19,900 | 23500 | 19,900

Uo7 43% 123,600, H:28,600 2,400 | 48% |+:19,900. H:25,400 ,600 | 19,900 | 28,600 | 25,400

P8 (FRE) % | NU084 8% 00 0,000 | 45% | H:22,000 ,500 | 20,000 | 24,500 | 22,000

[ RS U05 5% ,100 8000 | 39% [A: ,100 [ 18,000 | 19,100 | 18,000

U05 9% 19,100 7,000 | 43% |%+:18,000 ,100 | 18,000 | 18,100 | 17,000

U05 0% 6,600 | 44 ,700 | 16,600 | 17,700 | 16,600

U061 47% 4,500 AE ,600 | 14,500 | 15,600 | 14,500

U063 47% 4,500 E 00 | 14,500 00 | 14,500

U065 47% 4,500 3 ,600 | 14,500 | 15,600 | 14,500

B (BRER) | _NU050 47% 4,500 E .600 ,700 | 15,600 00 | 14,500

Uo5 47% 4,500 E ,600 ,700 | 15,600 00 | 14,500

U054 47% 4,500 E ,600 ,700 | 15,600 00 | 14,500

U05 47% 4,500 ,600 | 14,500 | 15,600 | 14,500

Uol % 7,000 | 43% 4 ,000 ,100 [ 17,000 | 20,100 000

uo 42% 000 | 46% |3 ,000 ,100 | 16,000 | 19,100 | 18,000

RRCHE)=FRE RRCHHE) % [ NUO 48% ,000 4 E ,800 ,000 1800 [ 32,200 ,000
Uo7 % ,800 E ,000 ,000 | 28,800 | 27,000 | 22,800

AiE% Uo7 48% 600 | 55% |H:30,200 ,800 | 27,200 | 34,000 | 29,800

RRCPHE) =84 R CHE) % | NUO. 49% 2,800 0% | £+:26,200 0,300 | 26,200 | 29,500 ,800
B uo. % ,200 0 H:29,000 7,300 | 23,200 | 33.100 000

KBz (B8d8) =H1E KBz (B978) % [ NUO! 46% 4,000 3% | 1:28,000 3,800 | 30,700 | 27,100 | 24,000
AiEH U084 46% . 4,000 3% | H:28,000 7,100 | 24,000 | 32,000 00

KR (B =8& AR (B#8) % | NUO! 45% % 1:29,800, 3/23-24. 38 {k ,900 3% % 1:25800, 3/23-24. 8Bk ,800 | 25,800 ,800 | 22,900
EO% Uo! 45% | H:29,800, 3/23-24 381K ,900 3% | H:25,800, 3/23-24. 38k ,800 | 22,900 | 28,800 | 25,800

REE(PE) =RE |[AakE(PE) 3 NUI 46% | % 1:34,700 ,000 b |%1:31,000 ,600 | 31,900 | 29,700 | 26,000
RAiES ui7 47% ,000 ,300 4 H:30,300 ,000 [ 25,300 | 29,700 | 26,600

AN =R (IR INRF uo 42% 8,000 000 | 46% |& ,000 ,000 | 26,000 | 25,000 | 23,000
SPHE(IRE) F [ NUO: 42% 8,000 000 [ 46% ,000 ,000 ,000 ,000 ,000

ZEE (PED) =ik () fa o = (P a6) 3_NU % 0,400 300 | 45% ,300, H:23,300 0,400 ,300 ,400 ,300
| NU25: % 00 | 45% 00, H:23,300 0,400 | 26,300 | 25,400 | 22,300

U255 40% 300 | 45% 400 | 25300 | 24,400 | 22,300

U257 48% 000 3% 00 000 00 000

SR#E (BRER) F [_NU25 48% 000 3% ,100 000 | 21,100 000

U254 43% 00 | 48% 00 00 00 00

Ui7 % 300 | 45% ,400 | 22,300 | 25,400 | 22,300

U25 % 00 | 45% 400 00 400 00

U25 % 300 | 45% ,400 | 22,300 | 25,400 | 22,300

e LL = ;b8 (IR HR) ] LLI 58 uo1 % 000 [ 4 000 | 24,000 ,000 000
SP#E (BRER) % | NUO1 7% 000 | 4 ,000 | 21,000 | 26,000 | 24,000

PR (8 =R1E B (BRER) F |_NU6O 6% 0,100 0,700 [ 10,100 | 10,700 | 10,100
U605 40% 3,900 4,500 | 13,900 | 14,500 | 13,900

U607 % 0,100 0,700 | 10,100 | 10,700 | 10,100

U611 % 0,100 0,700 | 10,100 | 10,700 | 10,100

U613 % 0,100 0,700 | 10,100 | 10,700 | 10,100

U617 % 0,100 0,700 | 10,100 | 10,700 | 10,100

] % 0,100 0,700 | 10,100 | 10,700 | 10,100

] % 0,100 0,700 | 10,100 | 10,700 | 10,100

] % 0,100 0,700 | 10,100 | 10,700 | 10,100

RERX U600 % 0,100 0,700 | 10,100 | 10,700 | 10,100

U604 % 0,100 0,700 | 10,100 | 10,700 | 10,100

U610 % 0,100 0,700 | 10,100 | 10,700 | 10,100

] % 0,100 0,700 | 10,100 | 10,700 | 10,100

U614 % 0,100 0,700 | 10,100 | 10,700 | 10,100

] % 0,100 0,700 | 10,100 | 10,700 | 10,100

] % 0,100 0,700 | 10,100 | 10,700 | 10,100

] 0 00 4,500 4,500 00

] 40 ,900 4,500 4,500 00

U084 40 00 4,500 4,500 00

| NU62 40 ,900 4,500 4,500 | 13,900

Uo7 40 00 4,500 4,500 00

| NU62 40 900 4,500 4,500 | 13,900

B =2 i (BRER) F |_NU55 ,000 00 00 ,000
| RAC801 ,000 ,100 ,100 | 3,000

U557 ,000 ,100 00 | 3000

U561 ,000 ,100 ,100 | 3,000

U563 ,000 ,100 00 | 3,000

U565 ,000 ,100 ,100 | 3,000

U567 ,000 ,100 00 | 3,000

] ,000 ,100 ,100 | 3,000

U ,000 ,100 00 | 3,000

BEEHHE | NUS5 ,000 ,100 ,100 ,000

U55 ,000 ,100 00 | 3000

U55 ,000 ,100 ,100 | 3,000

U ,000 ,100 00 | 3,000

] ,000 ,100 ,100 | 3,000

U564 ,000 ,100 00 | 3,000

] ,000 ,100 ,100 | 3,000

U570 ,000 ,100 00 | 3,000

RAC804 ,000 ,100 ,100 | 3,000

Bh—RE EGRE | RACS3I — — — — | —
RAC833 — — — — —

RAC837 — — - — —

RIEH RAC832 — — — — —

RAC834 — — - — —

RAC — — — — —

ChEB () =AKRE | 9% (F]) % [ RAC — — — — —
RAC87 — — — — —

RAC87 — — - — —

RAC87 — — — — —

AKEH |RAC8T2 — — - — —

RAC874 — — — — —

RAC87 — — - — —

RAC87 — — — — —

B () =55R h#8 (A8 % [ RAC — — — — —
RAC — — — — —

RAC — — - - —

RAC — — — — —

RAC — — - - —

RAC — — — — — —

EF ¥ RAG — — - - —

RAC814 — — — — —

RAC816 — — - - —

RAC818 — — — — — —

RAC820 — — - - —

RAC822 — — — — —

FREER) ='_EXE [PEFH % [RAC — — — — —
BTEKEH | RACSSS — — — - | — 1 —

BAAR=LXR MARRE |RAC835 — — — — —
JtXEH | RAC836 — — — — —

ChEB () =5 ME [ JP#E(RE) % [ RAC889 — — — — —
SMESR |RACSS0] —— — —— — — ——— — —— —




o 48 | SR 4=
[R—/\—%E] 3A18~24H JTA/RAG
EEEAR 2012/1/17 __ ~
3% 3/1-15 3/16. 3/18-19, 3/21-24 3/17 3,20
B BE [BAY| gy BFH E—0H vmemgm | E— I == =
B | TR gnix ommx BT | ERE g i EEE | EEE
BRR CPH) =48 R #) ShEE(IRER) & [ NU904 | 458 8IT| 16,200 | 60% 62% 18,900 56% | H:19,900 18,900 | 19,400
NUO078 | 45H B[ 18,900 | 54% 56% | +:17,400, H:22,000] 21,400 | 50% | 1:18,900, H:24,400 18,900 [ 24,400
AR (BHFE) = b (FRER) Sh#E (FRE) ¥ | NU084 |45HFT[ 13,800 | 60% 62% 13,800 62% 13,800 | 13,800
12k = s (BH) FFES NUO051 | 458 1| 16,500 | 40% 44% |B:15,500 17,500 41% | H:16,500 17,500 | 17,500
NU053 | 45H Bl | 15500 | 44% 48% & 1:16,500 16,500 | 44% £ +£:17,500 17,500 | 16,500
NU057 | 45H B[ 13,000 | 53% 56% | %:15,100 14,000 [ 53% |£:16,100 14,000 [ 14,000
NU061 | 45H B[ 10,800 | 61% 64% | %:12,900 11,800 [ 60% : 11,800 [ 11,800
NU063 | 45H B[ 10,800 | 61% 64% | %:12,900 11,800 [ 60% 11,800 [ 11,800
NU065 | 45E B[ 10,800 | 61% 64% | %:12,900 11,800 [ 60% 11,800 [ 11,800
Sh#E(IRE) % [ NU050 | 458 |iT| 13,000 | 53% 56% &+ H:14,100 14,000 53% 15,100 | 14,000
NU052 | 45H B[ 13,000 | 53% 56% &1t H:14,100 14,000 [ 53% 15,100 [ 14,000
NU054 | 45HBI| 10,800 | 61% 64% &+ H:11,900 11,800 [ 60% 12,900 [ 11,800
NU056 | 45H Bl [ 10,800 | 61% 64% 11,800 [ 60% 12,900 [ 12,900
NU060 | 45H Bl [ 15500 | 44% 48% £ H:17,500 16,500 | 44% 16,500 | 18,500
NU062 | 45H B[ 14,500 | 47% 51% £ H:16,500 15,500 [ 48% 15,500 [ 17,500
HRCPH)=RE RRCHE)H | NU071 [458FT] 23,800 [ 60% 61% & 1:26,200 27,800 | 55% 31,600 | 27,800
NUO073 | 45HBI| 19,800 | 67% 68% | 1:20,300 22,600 | 63% | % 1:24,800 28,600 | 22,600
AiE% NU078 | 45H Bl | 24,500 | 59% 60% | H:25,500 27,400 | 55% | H:30,000 27,000 | 29,600
HR(CPH) =8%H REECHE)H | NU021 [458&T] 21,200 [ 62% 63% & 1:23,600 22,600 | 61% | % 1+:26,000 26,000 | 22,600
= NU022 | 45HBI[ 20,100 | 64% 65% | H:22,600 23,000 | 60% | H:28,800 23,000 | 28,800
KBz () =HiE KBz (BE78) % | NU083 | 45HHiI| 20,800 | 57% 59% % 1:22,800 23,800 53% & 1:27,800 30,500 | 23,800
AiE% NU084 | 45H B[ 20,700 | 57% 59% | H:22,300 23,800 | 53% | H:27,800 23,800 | 28,700
Kby () == KBz (BE7) % | NU095 | 458 || 19,600 | —- 60% | &1:22,600.3/1-7:8% | 22,700 54% |£+:25600. 3/23-24.58k| 25600 | 22,700
EoHE NU098 | 458 71| 19,600 | —— 60% |H22,100, 3/1-75&k| 22,700 54% | H:25,600, 3/23-24. 584K | 22,700 | 25,600
£2HE(HE) =R1E ZEE(E) % | NU173 | 45HEI| 21,800 | 59% 61% % 1:25800 25,800 53% % 1:30,800 31,700 | 25,800
AiE% NU176 | 45H B[ 20,800 | 61% 62% 25100 | 55% | H:30,100 25,100 | 26,400
L2 HE(hE) =4 BH) | A EE(FER)FK | NU251 [458FT| 17.000 | 56% 58% 20,000 51% |&+: 25,000 | 20,000
NU253 | 45HBI| 17,000 | 56% 58% 20,000 | 51% & 25,000 | 20,000
NU255 | 45H B[ 15,000 | 61% 63% 18,000 | 56% & 23,000 | 18,000
NU257 | 45HBI| 10,800 | 72% 74% 13,800 | 66% |%:15,800, 1:17,.800 17,800 | 13,800
hEE(GIRE) F [ NU252 | 458 81| 10,800 | 72% 74% 13,800 66% |:15,800, 1:17,800 17,800 | 13,800
NU254 | 45HBI[ 15,000 | 61% 63% 18,000 | 56% | H:23,000 18,000 [ 18,000
NU176 | 45H B[ 17,000 | 56% 58% 20,000 | 51% | H:24,400 20,000 | 20,000
NU256 | 45H B[ 17,000 | 56% 58% 20,000 | 51% | H:24,400 20,000 | 20,000
NU258 | 45H B[ 17,000 | 56% 58% 20,000 | 51% | H:24,400 20,000 | 20,000
FE (L =8 (AR ER) EFNTE:S NUO11 | 458 1| 17,000 | 50% 53% 20,000 45% € +:23,000 23,000 | 20,000
PEECGIRE) E | NU016 | 458 EIT| 17,000 | 50% 53% | H:20,000 20,000 45% | H:23,000 20,000 | 23,000
R IRER) =R\ 8 (FRER) % | _NU601 | 458 FT| 8700 | 62% 64% 9,700 60% 9,700 9,700
NU605 | 45H Bl [ 12,500 |  46% 48% 13,500 [ 44% 13,500 [ 13,500
NU607 | 45HBI| 8700 | 62% 64% 9,700 60% 9,700 9,700
NU611 | 45HBI[ 8700 | 62% 64% 9,700 60% 9,700 9,700
NU613 | 45HBI| 8700 | 62% 64% 9,700 60% 9,700 9,700
NU617 | 45HBI| 8700 | 62% 64% 9,700 60% 9,700 9,700
NU619 | 45HBI| 8700 | 62% 64% 9,700 60% 9,700 9,700
NU621 | 45HBI| 8700 | 62% 64% 9,700 60% 9,700 9,700
NU625 | 45H B[ 8700 | 62% 64% 9,700 60% 9,700 9,700
AiEH NU600 | 45H B[ 8700 | 62% 64% 9,700 60% 9,700 9,700
NU604 | 45HBI| 8700 | 62% 64% 9,700 60% 9,700 9,700
NU610 | 45HBI| 8700 | 62% 64% 9,700 60% 9,700 9,700
NU612 | 45HBI| 8700 | 62% 64% 9,700 60% 9,700 9,700
NU614 | 45HBI| 8700 | 62% 64% 9,700 60% 9,700 9,700
NU616 | 45H B[ 8700 | 62% 64% 9,700 60% 9,700 9,700
NU618 | 45H B[ 8700 | 62% 64% 9,700 60% 9,700 9,700
NU176 | 45H B[ 12,500 |  46% 48% 13,500 [ 44% 13,500 [ 13,500
NU620 | 45H B[ 12,500 |  46% 48% 13,500 [ 44% 13,500 [ 13,500
NU084 | 45H B[ 12,500 |  46% 48% 13,500 [ 44% 13,500 [ 13,500
NU622 | 45H B[ 12,500 |  46% 48% 13,500 [ 44% 13,500 [ 13,500
NU078 | 45H B[ 12,500 |  46% 48% 13,500 [ 44% 13,500 [ 13,500
NU626 | 45H B[ 12,500 |  46% 48% 13,500 [ 44% 13,500 [ 13,500
HREBR) =2h 8 (FRER) % | _NUS51 [ 458 FT] 2,900 [ 83% 84% 2,900 84% 2,900 2,900
RAC801 | 45H&T| 2,900 | 83% 84% 2,900 84% 2,900 2,900
NU557 | 45H B[ 2,900 | 83% 84% 2,900 84% 2,900 2,900
NU561 | 45H B[ 2,900 | 83% 84% 2,900 84% 2,900 2,900
NU563 | 45H B[ 2,900 | 83% 84% 2,900 84% 2,900 2,900
NU565 | 45H B[ 2,900 | 83% 84% 2,900 84% 2,900 2,900
NU567 | 45H B[ 2,900 | 83% 84% 2,900 84% 2,900 2,900
NU569 | 45H B[ 2,900 | 83% 84% 2,900 84% 2,900 2,900
NU571 | 45HBI[ 2,900 | 83% 84% 2,900 84% 2,900 2,900
=S NU552 | 458 81| 2900 83% 84% 2,900 84% 2,900 2,900
NU556 | 45H B[ 2,900 | 83% 84% 2,900 84% 2,900 2,900
NU558 | 45H B[ 2,900 | 83% 84% 2,900 84% 2,900 2,900
NU560 | 45H B[ 2,900 | 83% 84% 2,900 84% 2,900 2,900
NU562 | 45H B[ 2,900 | 83% 84% 2,900 84% 2,900 2,900
NU564 | 45H B[ 2,900 | 83% 84% 2,900 84% 2,900 2,900
NU566 | 45H B[ 2,900 | 83% 84% 2,900 84% 2,900 2,900
NU570 | 45HBI[ 2,900 | 83% 84% 2,900 84% 2,900 2,900
RAC804 | 458 87| 2900 | 83% 84% 2,900 84% 2,900 2,900




